
Bateria wannowo-prysznicowa  
podtynkowa – instrukcja montażu

 Installation is now completed

The thermostatic concealed bath 

shower mixer after installation



M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

1

Upewnij się, że w opakowaniu znajdują się wszystkie elementy baterii wymienione w tabeli:

Nr Nazwa Ilość

1. M6*6 kołki rozporowe 4

2. Skrzynka podtynkowa z zaworami 1

3. Pokrywa skrzynki 1

4. M5*40 śruby szcześciokątne 4

5. Pokrywa baterii (rozeta) 1

6. Zestaw pokrętło plus przełącznik 1

7. Śruby 2

8. Gumowa zatyczka 2

9. Pokrętło regulacji temperatury 1

10. Plastykowy pierścień 2

11. 4 mm klucz imbusowy 1

12. 2,5 mm klucz imbusowy 1

13. gumowa płyta uszczelniająca 1

14. plastykowa rama 2



2

PRZYGOTOWANIE DO MONTAŻU

PRZYGOTOWANIE DO MONTAŻU SKRZYNKI 

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

1. Rysunek do montażu baterii prysznicowej 1 funkcyjnej.
2. Rysunek do montażu baterii prysznicowej 2 funkcyjnej.
3. Rysunek do montażu baterii prysznicowej 3 funkcyjnej.

Rysunek a pokazuje wymiary  
(długość, szerokość) otworu w ścianie

Rysunek b pokazuje głębokość 
otworu w ścianie

Proszę postępuj zgodnie  
z kierunkiem pokazanym  
na rysunku

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

koryto wody 1

koryto 
wody 2

koryto 
wody 2

koryto 
wody 3

koryto wody 1 koryto wody 1

CIEPŁA CIEPŁA CIEPŁA

ZIMNA ZIMNA ZIMNA

1. 2. 3. 



3

PRZYGOTOWANIE DO MONTAŻU W WYKONANYM OTWORZE W ŚCIANIE

MONTAŻ SKRZYNKI

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

M6*60 expansion screws

Concealed box (with concealed valve)

Uppper cover

M5*40 hexagon head screw

Cover plate set

Switch knob kits

Screws

Rubber plug

Temperature control knob

Plastic ring

4mm hexagon wrench 

2.5mm hexagon wrench

Rubber waterseal plate

Plastic frame (for hollow wall)

Preparation for installation

water trough1 water trough1

water 
trough2

water 
trough3

water 
trough2

water trough1

1.Drawing for creating the holes for one-function shower mixer

2.Drawing for creating the holes for 2-function shower mixer

3.Drawing for creating the holes for 3-function shower mixer

Drawing # a: showing the length & 

width of the hole

Drawing # b: showing the depth 

from the wall surface

 Installation of the pre-installation box

To install the plastic box, 

please follow direction 

shown in the drawing

Preparation for installation on the hollow wall

1. Use 4 pcs of M6*60 expansion screws & 

spanner to fix the box with the wall. 

Please ensure that the box and the wall 

surface is parellel to each other. Check 

the level gauge to ensure the box 

was installed at the correct level. 

Suggested hole sizes: 

Drawing # a: above drawing 

shows the length & width of the hole

Installation of the pre-installation box

Mount the plastic frame with the box kits first, then cover the frame onto 

the box and then screw up to ensure whole box is installed on the wall firmly.

Serial Part name Quantity Serial Part name Quantity

Użyj 4 szt. wkrętów rozporowych M6*60 i klucza, 
aby przymocować skrzynkę do ściany. 

Upewnij się, że skrzynka i powierzchnia ściany są 
do siebie równoległe. 

Sprawdź poziomicą, aby upewnić się, że skrzynka 
jest zainstalowana na właściwym poziomie.

W przypadku wyboru 1 funkcyjnej   
lub 2 funkcyjnej pracy, zaślepić korkiem 
odpowiednie wyjścia przy użyciu uszczelnienia  
z nici teflonowej.

Montaż głównej części baterii

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.



4

TEST SZCZELNOŚCI

Połączyć wloty i wyloty ciepłej i zimnej wody  
z zaworem podtynkowym.

UWAGA!
Przed podłączeniem należy upewnić się,  
że dopływ wody jest włączony, zanieczyszczenia 
wewnątrz rury są całkowicie wypłukane.  
Po zakończeniu czyszczenia zamknij dopływ 
wody.

Zastosuj  ciśnienie dynamiczne wody nie mniejsze 
niż 0,5 MPa w rurze wodnej, sprawdź połączone 
części, aby upewnić się, że wszystkie połączone 
części są całkowicie szczelne.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

CIEPŁA

WYPŁYW WODY 3

WYPŁYW  
WODY 3

WYPŁYW WODY 1

WYPŁYW WODY 1

WYPŁYW WODY 2

WYPŁYW WODY 2

CIEPŁA

ZIMNA

ZIMNA



5

USZCZELNIENIE POWIERZCHNI ŚCIANY

Po zakończeniu testu wodoszczelności,  
aby upewnić się, że nie ma wycieków we 
wszystkich połączonych częściach, użyj pianki 
montazowej do wypełnienia wszystkich szczelin  
w ścianie.

Przyklej płytkę na górze powierzchni ściany, 
przycięta płytka powinna idealnie pasować  
do zamontowanej skrzynki.

Nałóż gumową płytą uszczelniającą, a następnie 
przyklej płytkę do powierzchni ściany.

Skrzynka jest  instalowana na ścianie  
po przyklejeniu wszystkich płytek.  
Następnym krokiem jest zainstalowanie pokrywy 
baterii (rozety) i uchwytów.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.



6

MONTAŻ POKRYWY BATERII (ROZETY) I UCHWYTÓW.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.

Wood board

Installation of main body is now completed

Water outlet 1

Water outlet 2
Water outlet 3

Water outlet 1

Water outlet 2Water
outlet 3

Connect the hot & cold water inlets  

and water outlets with the concealed valve

Attention:before connection, please ensure 

that the water supply is switched on, the debris 

inside the pipe are completely washed away. 

Please close the water supply after the cleaning 

has been completed.

Watertightness test

Apply dynamic water pressure not less 

than 0.5Mpa to the water pipe, check up 

all connected parts to ensure that all 

connected parts are completely sealed.

After having completed the 

watertightness test to ensure 

no leakage in all connected 

parts, please use the cement 

to fill up all gaps in the wall..

Sealed wall surface

Please cover the box with 

the rubber sealing plate, 

then glue the plate onto 

the wall surface.

Then glue the tile on top of the 

wall surface, the cut tile should 

match perfectly with the box

The box is now installed on the wall after all tiles have been 

glued. The next step is install the conver plate and handles

Installation of cover plate & handle

1. Please use Allen key (#11) to take out those 4 pcs of screws, 

then remove the upper box cover from the concealed valve

2. Use the cutter to cut out the plastic box to ensure that the 

plastic box will not higher than the wall surface.
Installation of cover plate & handle

Install the cover plate on the concealed valves according to the drawing 

Install the diverter handle (#6): First please ensure that the cartridge 

is in close state and the button on the diverter handle points to 12'O clock. 

Please insert the part # 10 to the handle and then use Allen key to fix the 

screws into the diverter handle. After it, put the rubber plug into the hole 

of diverter handle to plug the gap.

Install the temperature control handle :  first please ensure that when the 

button on the control handle is pointing to upwards to  12'O clock, the water 

temperature is 38±2 degree. Then put the part #10 on the handle and then 

use the Alley key to fix the screws with the control handle until it is tighly 

installed. At last,  put the rubber plug into the hole of diverter handle to 

plug the gap. 

6.Turn the thermostatic handle.When the water is 38 degree(tested by

thermometer) but the handle do not point to 38degree,Pleasere-install

handle (9) and ring (10) to make sure that the handle point to 38 degree.

Then,instrall fixing screw (7) and plastic plug (8)

Installation of cover plate & handle

Install the cover plate on the concealed valves according to the drawing 

Install the diverter handle (#6): First please ensure that the cartridge 

is in close state and the button on the diverter handle points to 12'O clock. 

Please insert the part # 10 to the handle and then use Allen key to fix the 

screws into the diverter handle. After it, put the rubber plug into the hole 

of diverter handle to plug the gap.

Install the temperature control handle :  first please ensure that when the 

button on the control handle is pointing to upwards to  12'O clock, the water 

temperature is 38±2 degree. Then put the part #10 on the handle and then 

use the Alley key to fix the screws with the control handle until it is tighly 

installed. At last,  put the rubber plug into the hole of diverter handle to 

plug the gap. 

6.Turn the thermostatic handle.When the water is 38 degree(tested by

thermometer) but the handle do not point to 38degree,Pleasere-install

handle (9) and ring (10) to make sure that the handle point to 38 degree.

Then,instrall fixing screw (7) and plastic plug (8)

1. �Użyj klucza imbusowego, aby wyjąć te 4 szt. 
śrub, a następnie zdejmij górną pokrywę 
skrzynki z zaworami podtynkowymi.

2. �użyj noża, aby przyciąć plastikowe pudełko,   
aby upewnić się, że plastikowe pudełko nie 
będzie wystawać poza powierzchnię ściany

Zamontuj pokrywę baterii (rozetę) na zawory 
podtynkowe zgodnie z rysunkiem.



7

Installation of cover plate & handle

Install the cover plate on the concealed valves according to the drawing 

Install the diverter handle (#6): First please ensure that the cartridge 

is in close state and the button on the diverter handle points to 12'O clock. 

Please insert the part # 10 to the handle and then use Allen key to fix the 

screws into the diverter handle. After it, put the rubber plug into the hole 

of diverter handle to plug the gap.

Install the temperature control handle :  first please ensure that when the 

button on the control handle is pointing to upwards to  12'O clock, the water 

temperature is 38±2 degree. Then put the part #10 on the handle and then 

use the Alley key to fix the screws with the control handle until it is tighly 

installed. At last,  put the rubber plug into the hole of diverter handle to 

plug the gap. 

6.Turn the thermostatic handle.When the water is 38 degree(tested by

thermometer) but the handle do not point to 38degree,Pleasere-install

handle (9) and ring (10) to make sure that the handle point to 38 degree.

Then,instrall fixing screw (7) and plastic plug (8)

Installation of cover plate & handle

Install the cover plate on the concealed valves according to the drawing 

Install the diverter handle (#6): First please ensure that the cartridge 

is in close state and the button on the diverter handle points to 12'O clock. 

Please insert the part # 10 to the handle and then use Allen key to fix the 

screws into the diverter handle. After it, put the rubber plug into the hole 

of diverter handle to plug the gap.

Install the temperature control handle :  first please ensure that when the 

button on the control handle is pointing to upwards to  12'O clock, the water 

temperature is 38±2 degree. Then put the part #10 on the handle and then 

use the Alley key to fix the screws with the control handle until it is tighly 

installed. At last,  put the rubber plug into the hole of diverter handle to 

plug the gap. 

6.Turn the thermostatic handle.When the water is 38 degree(tested by

thermometer) but the handle do not point to 38degree,Pleasere-install

handle (9) and ring (10) to make sure that the handle point to 38 degree.

Then,instrall fixing screw (7) and plastic plug (8)

Zainstaluj uchwyt przełącznika: 

Najpierw upewnij się, że zawór jest zamknięty, 
a przycisk na uchwycie przełącznika wskazuje 
godzinę 12. Proszę włóż część 10 (pierścienie)  
na uchwyt, a następnie za pomocą klucza 
imbusowego wkręć śrubę w pokrętło 
przełącznika. 

Następnie włóż gumową zatyczkę do otworu  
w uchwycie przełącznika, aby przykryć śrubkę.
Zainstaluj uchwyt sterujący temperaturą: 
Najpierw upewnij się, że gdy przycisk na uchwycie 
sterującym jest skierowany w górę do godziny 12, 
temperatura wody wynosi 38 ± 2 stopnie. Proszę 
włóż część 10 (pierścienie)  na uchwyt, a następnie 
za pomocą klucza imbusowego wkręć śrubę  
w pokrętło przełącznika. 

Następnie włóż gumową zatyczkę do otworu  
w uchwycie przełącznika, aby przykryć śrubkę.

Obróc uchwyt termostatyczny. 

Gdy woda ma 38 stopni (test termometrem), 
ale uchwyt nie wskazuje 38 stopni, zainstaluj 
ponownie uchwyt (9) i pierścień (10), aby upewnić 
się, że uchwyt wskazuje 38 stopni. 

Następnie zamontuj śrubę mocującą (7)  
i plastikową zaślepkę (8).

Installation of cover plate & handle

Install the cover plate on the concealed valves according to the drawing 

Install the diverter handle (#6): First please ensure that the cartridge 

is in close state and the button on the diverter handle points to 12'O clock. 

Please insert the part # 10 to the handle and then use Allen key to fix the 

screws into the diverter handle. After it, put the rubber plug into the hole 

of diverter handle to plug the gap.

Install the temperature control handle :  first please ensure that when the 

button on the control handle is pointing to upwards to  12'O clock, the water 

temperature is 38±2 degree. Then put the part #10 on the handle and then 

use the Alley key to fix the screws with the control handle until it is tighly 

installed. At last,  put the rubber plug into the hole of diverter handle to 

plug the gap. 

6.Turn the thermostatic handle.When the water is 38 degree(tested by

thermometer) but the handle do not point to 38degree,Pleasere-install

handle (9) and ring (10) to make sure that the handle point to 38 degree.

Then,instrall fixing screw (7) and plastic plug (8)

PRZYCISK 
PRZEŁĄCZNIKA 
NA GODZ. 12
TAK

PRZYCISK PRZEŁĄCZNIKA 
NA GODZ. 12
TAK

NIE!



8

 Installation is now completed

The thermostatic concealed bath 

shower mixer after installation

MONTAŻ ZAKOŃCZONY

Bateria termostatyczna wannowo-prysznicowa 
zamontowana.

Uwaga! Rysunki mają charakter poglądowy, instruktażowy. Wygląd baterii może różnić się  
od zastosowanych rysunków. 

WAŻNE!  Konserwacja głowicy termostatycznej: Baterie termostatyczną należy odpowiednio 
konserwować, aby nie doszło do zakamienienia i zablokowania głowicy. Co najmniej raz na 3-4 tygodnie 
należy zmienić położenie pokrętła głowicy termostatycznej w czasie przepływu wody z pozycji 
maksymalnie zimna woda do pozycji woda gorąca i ustawieniu wypływu wody tylko na słuchawkę.
Aby nie doszło do poparzenia wodą gorącą, nie przebywać w środku i pod strumieniem wody.
Wykonywać tą czynność mogą tylko osoby dorosłe. Powtórzyć tą czynność 3-5 raz.



9

Dane techniczne 
Ciśnienie maksymalne 1 MPa 
Ciśnienie zalecane 0,1 - 0,5 MPa 
Maksymalna temperatura wody gorącej 90°C 
Zalecana temperatura wody gorącej 65°C 
Upewnij się, że podłączenie ciepłej i zimnej wody zostało wykonane prawidłowo. 

 
Czyszczenie i konserwacja 
Spłukiwać czystą wodą i wycierać suchą miękką ściereczką. Przy mocniejszych 
zabrudzeniach zaleca się stosować specjalne przeznaczone do czyszczenia 
baterii środki najlepiej profesjonalne produkty marki Oltens serii NanoCare 
i NanoShine. W żadnym przypadku nie używać środków zawierających alkohol, 
substancje dezynfekujące, rozpuszczalniki oraz mocne zasady. W żadnym 
przypadku nie wolno czyścić powierzchni baterii chropowatymi ściereczkami 
lub środkami czyszczącymi zawierającymi materiały ścierne i kwasy.


